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CHEMISTRY

BOOKS - TS EAMCET PREVIOUS YEAR PAPERS

TS EAMCET ENGINEERING ENTRANCE EXAM
QUESTION PAPER (2018)

1.In a photoelectric effect experiment, the kinetic energy of an

emitted electron is 1.986 x 10 '°J , when a radiation of
frequency 1.0 x 10'°s 1 hits the metal. What is the threshold
frequency of the metal (in s~1 )?(Planck's constant

= 6.62 x 10~ 3% Js)


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_u3z9jHecckGS

A.7.0 x 10

B. 5.8886 x 104

C.7.0x 10715

D.7.0 x 10

Answer: A

o Watch Video Solution

2.The following plot represents the de-Broglie wavelength as a

function of the kinetic energy (KEE.) of two particles A and B.


https://dl.doubtnut.com/l/_u3z9jHecckGS
https://dl.doubtnut.com/l/_cxb8qabLFpRc

Identify the correct relation

s

1

|: _'i'
Amyg = mp
B.my < mp
C.my > mp

Dmy=mpg=20

Answer: C



https://dl.doubtnut.com/l/_cxb8qabLFpRc

| ° Watch Video Solution

3. The correct option for the first ionisation enthalpy (in k)
mol ~1) of Li, Na, K and Cs respectively is

A. 496, 520, 419, 374

B. 374, 419, 496, 520

C. 520,496, 419,374

D. 374,419, 520, 496 124.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_cxb8qabLFpRc
https://dl.doubtnut.com/l/_OhchtuiszFTB

4. Which of the following statements about BF, and AIF63*
are correct?

(i) B and Al differ in their oxidation states.

(ii) B and Al differ in their covalency.

(iii) B obeys the octet rule.

(iv) B and Al are in diagonal relationship.

A. (i), (ii)
B. (i), (iii), (iv)
C. (i), (ii) , (iii)

D. (ii) ,(iii)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_sVqjlfUTxggm
https://dl.doubtnut.com/l/_96U5bQBvJmkb

5. Statement (A) CO5 has no dipole moment, whereas SO, and
H,0 have dipole moment.
Statement (B) SnCl, is ionic, whereas SnCl, is covalent.
Which of the following is correct?

A. Both (A) and (B) are not correct

B. is correct but (B) is not correct

C. Both (A) and (B) are correct

D. is not correct but (B) is correct

Answer: C

o Watch Video Solution

6. Assertion (A) Xe atoms in XeF, are d23p3 hybridised.

Reason (R) XeF, molecule does not follow octet rule.



https://dl.doubtnut.com/l/_96U5bQBvJmkb
https://dl.doubtnut.com/l/_HWTzLTayOcJ4

Which of the following is correct?

A. Both (A) and (B) are not correct

B. is correct but (B) is not correct

C.Both (A) and (B) are correct

D. is not correct but (B) is correct

Answer: D

o Watch Video Solution

7.12cm® of SO, (g) diffused through a porous membrane in 1

3

minute. Under similar conditions 120cm® of another gas

diffused in 5 minutes. The molar mass of the gas in gmol ~ ! is

A. 32


https://dl.doubtnut.com/l/_HWTzLTayOcJ4
https://dl.doubtnut.com/l/_4F13kAhQ5WZR

B.18

C.44

D.16

Answer: D

o Watch Video Solution

8. 1 mole of gas A and 1 mole of gas B at 27° C' were pumped
into a 24.6 L. volume pre-evacuated isolated flask. The catalyst
coated inside the flask catalyses the following reaction

A(g) + B(g) — 2D(g) . The kinetic energy of D is 98.03 L atm.

Calculate the pressure realised at the end of the reaction.

A. 1.66 atm

B. 2.66 atm


https://dl.doubtnut.com/l/_4F13kAhQ5WZR
https://dl.doubtnut.com/l/_diAriOFnguQx

C.5.33 atm

D.4.33 atm

Answer: B

o Watch Video Solution

9.28 g KOH is required to completely neutralise CO, produced
on heating 60 g of impure CaCO;3 The percentage purity of
CaCQOs is approximately (molar masses of KOH and CaCO;3
are 56 and 100gmol ~ !, respectively)

A. 416

B.40

C. 208

D.83.3


https://dl.doubtnut.com/l/_diAriOFnguQx
https://dl.doubtnut.com/l/_r2sC74EyWoLy

Answer: A

o Watch Video Solution

10. Which one of following is a disproportionation reaction?

A.2AgNOs(aq) + Cu(s) — Cu(NOs),(aq) + 2A49g(s)

3AgNOs(aq) + K3POy,(aq) — AgsPOy4(s) + 3KNOs(aq)
A
C.4KClO3(s)KCl(s) + 3KClO4(s)

D. 4F6(8) + 302(9) — 2F€203

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_r2sC74EyWoLy
https://dl.doubtnut.com/l/_5oI2VWZzpD84
https://dl.doubtnut.com/l/_UfoabLuYDnHB

1. The standard enthalpy  of  formation of
CO(g), CO5(g), N3O(g) and N,O4(g) are respectively - 10 .
393, 81 and -10 k) mol ! . Enthalpy change (in kJ) of the

follwing reaction is

N>04(g) +3C0(g) = N20(g) + 3C04(9)
A. — 1058
B. +1058
C. — 957

D. +957

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_UfoabLuYDnHB

12. Consider the following reaction in a 1L closed vessel.
Ny + 3Hy & NH3
If all the species: Ny, Hy and NHs are in 1 mol in the
beginning of the reaction and equilibrium is attained after
unreacted Ny is 0.7 mol. What is the value of equilibrium
constant?

A. 3600

B.3657.14

C. 265714

D. 1828.57

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_8OkyeqrLnZHP
https://dl.doubtnut.com/l/_SvTD5Hhps7ef

13. If the solubility product of Ni(OH), is 4.0 x 10~ ' the
solubility (in mol L™ 1) is

A.5.0 x 1075

B.4.0 x 107°

C.2.0x 107°

D.1.0 x 10~°

Answer: D

o Watch Video Solution

14. Identify the reactions in which H, is liberated ?

()Zn + NaOH(aq) —

(iy HCOOH — "%,
conc. HySOy
1270K

Ni


https://dl.doubtnut.com/l/_SvTD5Hhps7ef
https://dl.doubtnut.com/l/_37uqOyx7N1IC

(iv) Zn + H " (aq) —

(v) C(s) + HyO 2%

A. (i), (iii) , (iv) , (v)
B. (i), (ii) , (iii) , (iv)
C. (i) , (iii) , (iv) ,(v)

D. (i), (i), (i) , (v)

Answer: A

° Watch Video Solution

15. Be H, can be prepared by the reaction of

A. BeXl, with Li AlH,

B. Be with H,


https://dl.doubtnut.com/l/_37uqOyx7N1IC
https://dl.doubtnut.com/l/_JfVMLJv6FZhP

C. Be with water

D. Be with liquid ammonia

Answer: A

o Watch Video Solution

16. AlCl; in water at pH < 7 forms

A. tetrahedral AI(OH), ions
B. octahedral Al(OH)g_ ions
C.square planar AI(OH), ions

D. octahedral AI(OH,)® * (3 + ) ions

Answer: D

| o Watch Video Solution


https://dl.doubtnut.com/l/_JfVMLJv6FZhP
https://dl.doubtnut.com/l/_i5ChzB1cQ4IQ

17. Which of the following is knows as silicone ?

"R
Polymer of ___Sli—Cl
A ;
A
Polymer of - Si—O01-
B. A

C. Polymer of SiO>

D. Polymer of [SiO4]*~

Answer: B

o Watch Video Solution

18. Indentify the reactions that occur in photochemical smog .

(i) CH, = O + H, —» CH3sOH


https://dl.doubtnut.com/l/_i5ChzB1cQ4IQ
https://dl.doubtnut.com/l/_hxCpIHVOtUZv
https://dl.doubtnut.com/l/_8KhZIJvF4CuC

(i) NO3(g) —3 NO(g) + O(g), O(g) + Os(g) — Os(g)
(iii) SCH, + 205 — 3CH, = O + 3H,O
(iv) NO(g) + O3(g) — NOaz(g) + O2(g)

A. (i), (iii) , (iv)

B. (i), (ii), (iii)

C. (1), (i), (iv)

D. (i), (iii) , (iv)

Answer: A

o Watch Video Solution

19. IUPAC name of isoprene is

A. 1, 3-butadiene


https://dl.doubtnut.com/l/_8KhZIJvF4CuC
https://dl.doubtnut.com/l/_kxgtqdPQWJsh

B. 2, 3-dimethylbutadiene

C. 2-methyl-1, 3-butadiene

D. 1, 3-dimethylbutadiene

Answer: C

o Watch Video Solution

20. Identify the correct catalyst and reaction conditions for the
controlled oxidation of methane to (i) methanol (X), (ii)

methanal (1) and ethane to (iii) ethanoic acid (Z).

&

o View Text Solution



https://dl.doubtnut.com/l/_kxgtqdPQWJsh
https://dl.doubtnut.com/l/_1fT11HB4CDjB

21. The major product (P) formed in the below reaction is

Bry (1mol
H-C=C-CH,— CH=CH, —"", p
CCly,253K

AAH—-C=C—-CHy, - CH(Br) — CHy(Br)
B.CH(Br),) — C(Br), — CHy — CH = CH,

D.CHy, = CH(Br) — CH(Br) — CH = CH,

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_U8Kfi21Ibme1

22. Match the following

List-l List-1l

A @@@@@@ (i) Ferromagnetism

B @@@@@@ (i) Antiferromagnetism

C @@@@@@ (iii) Ferrimagr;etié_m -

The correct answer is
AA— (i)B — (i1i)C — (i)
B.A — (i), B — (i)C — (i1)
C.A — (i1)B — (i)C — (i)

D.A — (i)B — (i1)C — (431)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_cAbfeb9T7WtV
https://dl.doubtnut.com/l/_NW4Pc4uvEJXE

23. How many grams of glucose must be added to 0.5 liter of a

solution so that its osmotic pressure is same as that of a

solution of 9.2 g of glucose dissolved in a liter?

A. 115

B.9.22

C. 231

D.4.6

Answer: D

o Watch Video Solution

24. Molarity of a 50 mL H2S504 solution is 10.0 M. If the density

of the solution is 1.4 g/cc, calculate its molality


https://dl.doubtnut.com/l/_NW4Pc4uvEJXE
https://dl.doubtnut.com/l/_uMf7J2C9bbEg

A 714

B.8

C.10

D.0.5

Answer:

o Watch Video Solution

25. Limiting molar conductivity of Mg?* and Cl~ ions in
water is 1060 and 76.3Scm’mol ! . The limiting molar
conductivity of magnesium chloride (in Sem? mol ™! ) in

water is

A.182.3

B. 258.6


https://dl.doubtnut.com/l/_uMf7J2C9bbEg
https://dl.doubtnut.com/l/_8pOtwxH9afmq

C. 2883

D.364.6

Answer: B

o Watch Video Solution

26. A particular reaction has a rate constant 1.15 x 10 3s-1 .

How long does it take for 6 g of the reactant of reduce to 3 g?
(log 2 =0.301)

A.301s

B.603 s

C.840s

D.15s


https://dl.doubtnut.com/l/_8pOtwxH9afmq
https://dl.doubtnut.com/l/_0dhkoBAI1snT

Answer: B

o Watch Video Solution

1
27. If the value of — is equal to 1 in Freundlich adsorption
n

. T
isotherm, then — = (x = mass of adsorbate, m = mass of the
m

absorbent, p = pressure of the gas)

C.K

D.O

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_0dhkoBAI1snT
https://dl.doubtnut.com/l/_SxFth0pZTj7p

28. What is the slag formed during the extraction of iron ?

A. MgO

B. F€S'503

C. CCLS’LOg

D. MgS’lO3

Answer: C

o Watch Video Solution

29. What is the chemical formula of hypophosphorus acid?

A. H3 PO

B. Hy PO,


https://dl.doubtnut.com/l/_kCrHCxwPbAwk
https://dl.doubtnut.com/l/_xBwnX2lsOLQD

C. H; PO,

D. H4P206

Answer: B

o Watch Video Solution

30. Which of the following ions possesses S -0 -S bond ?

A 5,05~
B.SO;~
C. $,05"

D. SQO? ;

Answer: D

| o Watch Video Solution


https://dl.doubtnut.com/l/_xBwnX2lsOLQD
https://dl.doubtnut.com/l/_VKVRzypprPDy

31. Which of the elements possess only one electron in 5d-
orbital?

A OTm, % Pm

B.%Pr, " Iu

C.*"La, ' Pm

D.°"La, " Lu

Answer: D

o Watch Video Solution

32. The electronic configuration of Cr in Cr(CO), as

calculated using crystal field theory is


https://dl.doubtnut.com/l/_VKVRzypprPDy
https://dl.doubtnut.com/l/_sLlYPtEh2yPY
https://dl.doubtnut.com/l/_ZQt5yp5CkJQP

4 0
A. t2geg

3 1
B. t2geg

6 _0
Cteg

29

4 2
D. t2geg

Answer: C

o Watch Video Solution

33. Match the following

- Ll_a_t-l List-ll

A Natural rubber {] () B-g g!ucc:-sa

B Cellulose (i) lsoprene

C Nylon-6 (i Tetraﬁuoruathylenea_ -
D Teflon ~(iv) Caprolactam o

(v) Hexamethylenediamine,
adipic acid



https://dl.doubtnut.com/l/_ZQt5yp5CkJQP
https://dl.doubtnut.com/l/_Pr6Nn62RqQOD

The correct answer is

AA— ({))B — (i)C — (iv)D — (ii1)

B.A — (i1)B — (iv)C — (i)D — (ii1)

C.A — (iv)B — (¢)C — (i1)D — (431)

D.A — (i4)B — (ii1)C — (iv)D — (v)

Answer: A

o Watch Video Solution

34.|dentify the non-reducing sugar from the following

A. Maltose

B. Sucrose

C. Lactose


https://dl.doubtnut.com/l/_Pr6Nn62RqQOD
https://dl.doubtnut.com/l/_YUTv2inkuE74

D. Glucose

Answer: B

o Watch Video Solution

35. Identify the correct set of functional groups present in

aspartame, an artificial sweetener.

(a) —CDOCH;_—NH_ 0 0
L A e

(b) —COOH -—N_H_,l_ o 0O
—i(IJ—-NH--—- —!:l—OCHJ e

() —CONH, —NH—--CO—  —COOH

(@ —CHO —CN —OH —COOCH,

o Watch Video Solution

36. Which of the following molecules is not chiral ?



https://dl.doubtnut.com/l/_YUTv2inkuE74
https://dl.doubtnut.com/l/_aDTIuzf5BuZc
https://dl.doubtnut.com/l/_PsFZ9EVAHOe8

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_PsFZ9EVAHOe8

37. The major product obtained in the reaction of
bromobenzene with Mg in dry ether followed by the reaction
with benzonitrile and hydrolysis is

A. acetophenone

B. benzophenone

C. phenyl benzoate

D. benzoic acid

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Y4ZGXyYIuBJO

38. The major product (Z) of the following chemical reaction is
v
I

CH,—C—CH,—CH,—CH,—(Br)

PhMghr - MgBr

[P ]| ———2Z

(C.H; 1,0

?H
CH, —c‘ —CH,—CH,—CH,

A
OH
CH, —«)!:—CH,—CH2 —CH,Br
B. Ph
H,C. O

o
I
D, ' CH:—C—CH,—CH,—CH,—Ph

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_AocHYIhivI1l

39. In the below given synthetic sequence , the product "C" is

MgCi

() CO; . NH Br,
(i) H® >A AL)B NaOH c
NH.,
A.
CONH,


https://dl.doubtnut.com/l/_GZN6tSQedWRx

NH,

C.
CONHBr
D.
Answer: A

o Watch Video Solution

NH,

(CH,;C0O),0 X Brp yY EOHLZ
Pyridine " CH4aCO,H !

40.
What are structure of , X ,Y and Z in the above given reaction

sequence ?


https://dl.doubtnut.com/l/_GZN6tSQedWRx
https://dl.doubtnut.com/l/_dANhO59u2rQL

X Y r4
5HCOCH3 NHCOCH;  NH,
Br Br

NHCOCH;  NH,

NHCOCH,
f @/Br Br
Br

NHCOH  NH,

° . 9 ©

C Br Br
.

2~

O 0

NH—COO—COCH, NHMCHJ NH,

Br Br

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_dANhO59u2rQL

